Total No. of Questions: 6] SEAT No. :

P-1787 [Total No. of Pages: 4

[6032]-501
T.Y. B.Com (Semester - V)
351 : BUSINESS REGULATORY FRAMEWORK - |
(CBCYS) (2019 Pattern)
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I nstructions to the candidates:

1) Q.no.1and Q.no. 6 are compulsory.

2) Solve any 3 questions from the remaining question no. 2, 3,4 & 5.

Q1) A) Fill inthe blanks (Any 5) : [9]
1)  The Indian contract Act came into force on throughout
India except Jammu & Kashmir.
(15 October 1872, 1 September 1872, 1 October 1872)
i)  The minimum number of partners to start a partnership business

should be
4, 3,2
iil) Sale of Goods Act 1930 applies to Goods.
(immovable, movable, public)
\Y)) method of dispute resolution is called domestic court.
(District court, High court, Arbitration)
V) IS a payment received from one person to another for

breach of contract.
(Consideration, Income, Compensation)
vi) Foreign persons cannot be shareholders of any of the following

organizations.
(LLP, Joint stock corporation, partnership)
B) Match the following. [9]
‘A" Group '‘B' Group
1) Adult person a) Present object
i) LLP b) Completed 18 years of age
li1) Goods present at thetime  ¢) Limited liability
of sale
iv) Arbitration d) Active partner

v) Participation in management €  Arbitrator

PT.O.



Q2) Explainthe characteristicsof aconsideration by stating what is consideration

IS?

[15]

Q3) Explain the difference between limited liability partnership and partnership

firm.

Q4) Explain the conditions and warranties of sale of goods contract.

[15]

[15]

Q5) What is an arbitrator? Explain the powers and duties of an arbitrator. [15]

Q6) Write notes (Any 3) :

a)
b)
c)
d)

€)

Void contract
Types of partners
Agreement to sale
Conciliation

Transfer of ownership

[6032]-501 2

[15]



Total No. of Questions: 6]

P-1787 [6032]-501
T.Y. B.Com (Semester - V)
351 : BUSINESS REGULATORY FRAMEWORK - |
(CBCYS) (2019 Pattern)
(TS wUTaR)

ae : 2> a1 | [ egor 7707 : 70
L LU

1) gva . 1 amfor gv9 . 6 @igfan sifard sie.

2) v 2, 3,4 3nfor 5 wefier wivagt 3 g9 digEra.

gy7 1) 1) T @ mnm @, (S 5) [5]

)  URAE FR HEE TH-FHIPR ST ... HEA HYUT WRAT AR
FHATATA ST
(15 sifwver 1872, 1 a@dar 1872, 1 st 1872)

i) WTiiERt STaE™ T6 HUTHE! WRTER [hAH W& ........... EGED]
.
4, 3,2

iii) e o wwr 1930 ... S e .

iv) foame digavarE ... EEETEAT T AT 318 HEe 3.
(Rear =manera, 3= =marer™, neaedt)

V) SRRHTR Teh! SAeRiTehg G- SHaRICT (HaUTRT HisGel TUr .........

.
(ufcroret, Scadt, JhE WRUTE)

vi) fersht st wreled e ................ T WHTHRER 213 Yhd AT,
(LLP, G wigaeh sHes, wrierd)

F) o e A [5]

‘A M T M

) e s ) oA

i) TeTerd «) e 18 =8 gui

i) Toshrem aebt o otfdca &) wAifed WeTagRl

iv) wemelt g) Foramiier wniier

V) SEEATIHAT SN 3) o ol

3 P.T.O.



7v 2)

97 4)

g9 5)

gfithel U T d T Sfdwetren afvres wE %

THifed WaTEaerl WHTERT STTUT ARG TXRl ITdiel Wieh T8 .

HIATIrsh! SHIRTSAT T 0T g2 37Et T .

TG U T g WA el TR vt sl TE .

fem forgr. (e 3)
3) = WR

F) HNGRIA THR

W) HTATShET S

T) HEE

) TR gahTel BT

[6032]-501 4

[15]

[15]

[15]

[15]

[15]



Total No. of Questions : 4] SEAT No. :

P-1788 [Total No. of Pages : 5

[6032]-502

T.Y. B.Com.
352 : ADVANCED ACCOUNTING - |
(2019 Pattern) (CBCS) (Semester - V)

Time: 2%2Hours] [Max. Marks: 70
Instructions to the candidates :

1) Q.liscompulsory.

2) Solveany 2 questions from remaining Q. No. 2, 3 and 4.

Q1) @ Fill intheblanks (Any fiveout of 7) [9]

); isanimportant tool used to manage finances by tracking
the cash flow for an organization.

d FundFlow Statement b) Cash flow statement
c) BaanceSheet d) RatioAnayss

i A Is a financial statement that contains details of a
company's assets or liabilities at a specific point in time.

a Profit & LossAccount b) Profit statement
c) Cashflow statement d) Baancesheet

i)  Bills Payableis shown on the side of the Balance sheet.
a Liability b) Asset
c) Profit d) Loss

Iv) Every Banking company should prepare a Balance sheet and Profit
and loss account as on each year.
a 1% January b) 31% March
c) 30" June d) 31% December

V)  Anasset becomes non- performing when it to generate
income for aBank.
a ceases b) starts
C) opens d) creates

P.T.O.



vi) Under the method of valuation of closing investment itis
assumed that the investment purchased first are sold first.
a LIFO b) FIFO
c) SmpleAverage d) Weighted Average
vii) Interest on investment is calculated on the
d maketvaue b) nationa value
c) facevaue d) prominentvalue
b) Trueof False (Any fiveout of 7) : [9]
I)  The objective of Accounting Standard is to harmonise different
management policies.
i)  The Profit and Loss is an Account of Assets and Liabilities.
i)  Cash receipts are recorded on the Receipts side in the Cash Flow
Statement.
Iv)  The conversion of debt to equity is a non — cash transaction.
v)  Acceptances, Endorsements and other obligations are a contingent
liability of aBank.
vi) Profit and Loss accounts records purchases and sales.
vii) Sharecapital isaLiability.
c) Matchthefollowing: [9]
)  Unclaimed Divided a Bonus shares
i)  Investments b) Purchase/ Sdepriceof Securities
i)  Free of Cost shares c) Scheduleno. 8
Iv) Inflow and Outflow of Cash d) Schedule no. 5
v) Marketprice e) Cash Flow statements
d) Short Notes (Any three out of five) : [15]
1)  Explaintheimportance of AS.
i)  Explainthe need of Internal Reconstruction.
i)  Explain methods of Electronic Funds Transfer.
Iv) Explain FIFO method with an example.
v) ExplanAS-12.
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Q2) Thefollowing isthe Balance Sheet of Bosco Ltd as on 31% March 2021.[20]

Balance Sheet ason 31 March 2021

Ligbilities Amt. | Assets Amt.
Issued and Subscribed Capital | 4,00,000 | Goodwill 60,000
4000 Equity Sharesof 100 Buildings 1,50,000
each fully paid Machinery 3,00,000
3000 7 % Preference Sharesof | 3,00,000 | Patents 30,000
100 each fully paid Stock 2,20,000
Profits Prior to Incorporation 10,000 | Debtors 1,50,000
6 % Debentures 3,00,000| Cash 5,000
Sundry Creditors 2,00,000 | Preliminary Expenses| 25,000

Profit and Loss 2,70,000
Total 12,10,000 | Total 12,10,000

The following scheme of reconstruction was duly approved by the court

a)

b)
c)
d)

€)

7 % Preference Share to be converted into 9 % Preference shares the
amount being reduced by 30 %.

Equity Shares to be reduced to fully paid shares of Rs. 50 each.
Buildings to be appreciated by 20 %.
Debentures be reduced by 20 %.

All intangiblesassetsand liabilitiesamountsincluding patentsto bewritten
off. Utilise profits prior to incorporation if necessary.

Pass journal entries to record the above scheme of reconstruction in the
books of Bosco Ltd. and arevised Balance Sheet as on 31% March 2021.

[6032]-502 3



Q3) Following is the Trial Balance of Laji Bank as on 31% March 2021. Prepare

Profit & Loss Account and Balance Sheet as on that date. [20]
Trial Balance ason 31% March 2021
Particulars: Debit Credit
Equity Share Capital of Rs.100 each Rs.50 paid up 4,00,000
Profit & Loss Account on 1% April 2020 1,60,000
Current Deposit Account 13,64,000
Fixed Deposit Account 15,60,000
Savings Bank Account 10,26,000
Directors Fees 18,000
Audit Fees 4,000
Furniture (Cost Rs. 4,00,000) 3,48,000
Interest and Discount Received 8,40,000
Commission and Exchange 4,00,000
Reserve Fund 1,40,000
Printing and Stationery 16,000
Rent and Taxes 34,000
Sday 2,80,000
Buildings (Cost Rs. 12,00,000) 9,00,000
Law Charges 6,000
CashinHand 64,000
Cash with RBI 14,00,000
Cash with other Bank 13,00,000
Investment at Cost 4,80,000
Loans, Cash Credits and Overdrafts 12,00,000
Bills Discounted and Purchased 5,60,000
Interest Paid 6,00,000
Borrowingsfrom BrahmalyaBank 8,00,000
Branch Adjustment Account 5,20,000
Total 72,10,000 | 72,10,000

Following additional Adjustmentsare available-

a TheBank hasaccepted on behaf of the customershillsworth Rs. 6,00,000

against the securities of Rs. 7,60,000 lodged with the bank.

b) Rebate on Bills discounted Rs. 22,000

c) Provide Depreciation on Buildings 10% and Furniture 5% on cost.

d) ProvideRs. 6,000 for Bad and Doubtful Debts.

e) Transfer 25% of profit to statutory reserve.

[6032]-502 4



Q4) M/s. Nilesh Investments Trust Ltd. submit the following detailsregarding one

of their investmentsfor the year 2021. [20]

a Opening Balanceat cost (01.01.21) Rs. 90,000, Face value Rs. 1,00,000.

b) Purchased investments worth Rs. 40,000 on 1% March 2021 cum-interest
at 5% discount, Brokerage paid on it Rs. 400.

c) Soldinvestments worth Rs. 50,000 on 1% July 2021 cum-interest at 2%
premium. Brokerage paid on it Rs. 500.

d) Sold investments worth Rs. 30,000 1% Oct. 2021 ex-interest at par.
Brokerage paid on it Rs. 300.

e) Purchase investments worth Rs. 20,000 on 1% Dec. 2021 ex-interest at
2% discount. Brokerage paid on it Rs. 200.

f)  Investment carries interest at 6% p.a. payable on every 31% March and

30" September. Prepareinvestment account ason 31/12/2021. Investments
are to be valued at cost by First-in-first out method.

VVVV
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I nstructions to the candidates:

Question No. 1 and 6 are compulsory.

Solve any three questions from 2 to 5.

Figures to the right indicate full marks.

1)
2)
3)

Q1) A)

Fill in the blanks (Any Five) : [5]

)

ii)

Vi)

According to the traditional view, an increase in the gross national
income of a country through an increase in the productive capacity
of a country is

a Economic Growth b) Economic Changes

c) EconomicDevelopment d) Modernization

The concept of economic development is related to

a Socia Changes b) Quantitative Changes

c) Quadlitative Changes d) Political Changes

At present Indian agricultureisprovided thelargest amount of credit
by :

a Lenders b) Government

c) Institutiona Source d) PrivateBanks

India’s new industrial policy was announced in

a 2007 b) 2001
c) 1991 d) 2009
is a problem of public sector enterprise.
a Urbanization b) Proprietary Rights
c) Increasing Loss d) Increasing Export
In 1950-51 the share of sector in India s gross domestic

product was the lowest.
a Agricultural Sector b) Service Sector
c) Industrial Sector d) Government Sector

PT.O.



B) Match the Pairs : [5]

A B
1)  Developing Country ad Low productivity
i)  Developed Country b) Government Interference
i) IndianAgriculture c) India
Iv) Public Sector d) Indian Service Sector

v) HighContributioninNational €) America
Income of India

02) What ismean by emerging economy?Explainin detail characteristicsof Indian
€conomy as an emerging economy. [15]

03) Define agricultural marketing. State problems of agricultural marketing and
suggest measuresto improve agricultural marketingin India [15]

04) Explainroleof Micro, Small and Medium Scale Enterprisesinindia.  [15]

05) Define Service Sector. Explain role of service sector in India. [15]

06) Write Short notes on (Any Three) : [15]

ad Comparison of Indian Economy with world Economy with referenceto
Population.

b) Causesof low productivity of Indian Agriculture.
c) Problems of Public sectors Enterprisesin India.
d) E-Commerce.

e) Digita Economy.

VVVV
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I nstructions to the candidates:

Question No. 1 and Question No. 6 are compulsory.

Solve any three questions from Question No. 2 to Question No. 5.
Figures to the right side indicate full marks.

1)
2)
3)

Q1) A)

Fill in the blanks (Any 5) : [5]

1)

ii)

iii)

1v)

The new Trade Theory has been explained by __ .

a) Fidel Ezeala Harnison b) Raymond Vernon

¢) Devid Ricardo d) Adam Smith

Leontief Paradox is an experical testing of _______ theory.

a) Absolute cost advantage

b) Hecksher Ohlin

¢) Comparative cost advantage

d) None of the above

Free trade tends to

a) Increase monopolies b) Restrict monopolies

¢) Has no Impact d) Can not determined
is not a form to tariff.

a) Protective b) Revenue

¢) Consumption d) None of the above

is called dumping.

a) Expensive goods selling for low price

b) Reducing tariffs

¢) Increasing tariffs

d) Fixing Quota
PT.O.



Vi) explained the Gross Barter terms of Trade.

a) Jacob Viner b) F. W. Tausing
c) W. Singer d) Dormance
B) Match the Pairs. [5]
‘A" Group 'B' Group
1)  Inter regional trade a) Heckscher - Ohlin
i1) Theory of factor Endowment b) David Ricardo
ii1) International Trade c¢) Jacob Viner
1v) Comparative cost advantages d) Trade between countries
v) Single factoral terms of trade e¢) Domestic Trade
02) Explain the scope and importance of International Trade. [15]

03) Explain the theory of absolute cost advantages as explained by Adam Smith.

[15]

Q4) Explain the arguments of favourable and against of free trade policy. [15]

05) Explain the causes of unfavourable terms of trade of developing countries.

Q6) Write Short notes (Any three) :

a)
b)
C)
d)
e)

Concept of inter-regional trade
Leontif paradox

Concept of dumping
Importance of terms of trade

Protected Trade Policy

lClodos
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I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto the right indicate full marks.
Q1) A) Fill in the blank with the most appropriate alternative (any Five) : [S]
1) Internal auditor is appointed by . (The
Management, The Government, The Shareholders.)
11) The work of one clerk is automatically check by another clerk is
called internal . (Control, Check, Audit)
i11) Voucher relates to . (Cash Receipt, Cash Payment,
All of these)
1v) Audit report is presented to _____ . (Secretary, Registrar,
Creditor)
v) Tax audit is compulsory under the section . (44AB,
44AC, 44AD,)
Vi) of the following is not a skill needed by a Forensic
Accountant. (Accounting and Auditing, Investigative, Sociology)
B) True or False : [5]
1)  Internal check is part of Accounting Control.
11)  Unmodified Report & Qualified Report both are separate things.
ii1) Tax liabilities of an assessee depends upon his residential status.
iv) As per the Income Tax Act 1961, agriculture income in India is
not exempt to tax.
v)  EDPis the fastest and best available method with highest reliability

and accuracy.

PT.O.



Q2) Write a short note (any two) : [10]

a) Features of Internal Check
b) Audit Certificate
¢) A Removal of Auditor
d) Forensic Audit Report
03) Answer the following (Any 2) : [30]
a)  Define the term ‘Audit Programme’. Explain advantages and limitations
of its.
b) What is Vouching? Explain the process of a Cash Book.
c) Explain the rights and duties of the Company Auditor.
d) Define the term Forensic Audit. Explain the objectives and importance

of Forensic Audit.

m|mim
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Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) A) Fillin the blanks with the most appropriate alternative (any five): [5]

1)  Training courses typiclly designed for

a) Short term b) Longterm
c) Mediumterm d) All ofthese
11) can be defined as process of choosing the right person for
the right job.
a) Selection b) Recruitment
c) Incorporation d) Orientation

i) HRM is an art of
a) Preparation of a task
b) Coordinating middle level Management
c) Helping top level Management
d) Managing people

1v) is the process of managing, training, developing &
evaluating employees.
a) Performance Appraisal b) Motivation
c) Coordination d) Selection
v) The word development is linked with
a) Managers b) Workers
c) Supervisors d) All of the above
vi) s the process of searching for the propecitve employees &
stimulating them to apply for the job.
a) Selection b) Recruitment
c) Placement d) Training

PTO.



B) Match the following: [5]
Column A Column B
1)  Kaizen 5-S a) Employee Development
i) Coordination b)  Graphics Scale Method
i) Interview Method c) Japanese Technique
iv) Career Planning d) HRM Function
v)  Performance Appraisal e) External Recruitment Source
02) Write a short note (any two) [10]
a) Emerging Concept of Human Resource Development
b) Importance of Selection Procedure
c) Importance of Training to the organization
d) Importance of Performance Appraisal
03) a) Define Selection. Explain different types of Interview. [8]
b) What do you mean by Career Development? Explain Various stages of
career development. [7]
04) a) Define Human Resource and explain its purpose and scope. [8]
b) Explain modern concepts in Human Resource Management. [7]

VOO
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0) A v ) e R
i) q) O e Ugd
i) GRS Ugd ®) A A
iv) @R R T) A GEEE G SR
V) T 3) o W
¥.2) ofirwama o o, (owed 2m) [10]

) A wEeE foemrh SeanE Tehed
q) fae ufms e

®) wEEd! uiveume uEe

) MR GoaHATe et

¥.3) 31) o uishash samen gar. geared fafay TR @ w0, [8]

d) HRehIE (Rt TEUTH S ? Shiehlc faremraTean fafaer arrn e &4, [7]

U.4) 3) WA GEneEren 33 O @ 3291 9 STH T . [8]

q)  HEE YA AR e ekt T . [71
VOV
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[6032]-507 [Total No. of Pages : 4

T.Y. B.Com.
BANKINGAND FINANCE -11

355 B : Financial Markets and Institutions in India -1

Time : 2%: Hours]|

(2019 Pattern) (Semester-V) (CBCS)

[Max. Marks : 50

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right side indicate full marks.

Q1) A) Fillinthe blanks (Attempt any five): [5]
1) is not the indicator of financial development
a) Financial Interrelation Ratio
b) Birth Ratio
c) finance Ratio
d) Intermediation Ratio
i)  1s a component of Indian Financial system
a) Financial Institutions b) Financial markets
c) Financial instruments  d) All ofabove
1ii) is not a type of cheque.
a) Mutilated Cheque b) Stale Cheque
c) Promissory Cheque d) Crossed Cheque
1v) is a market for lending & borrowing of short term funds.
a) Money market b)  Primary market
c) Capital market d) All of the above
V) is least risky
a) Equity b) Corporate Bonds
c) Treasury Bills d) Certificate of Deposits
vi) Exchange rates are determined in
a) The Money Market b) The foreign Exchange Market
c) The Stock Market d) The Capital Market

PTO.



B)

Match the following:
A

1)  Intermediation Ratio
1) Call Money Market
) Secondary Securities

iv) Public Issue

02) Write short note (any two)

a)
b)
c)
d)

03) a)
b)

04) a)
b)

Indicators of Financial Development

Financial Institutions

National Stock Exchange

Determination of exchange rate

B

Initial Public Offer [IPO
Insurance Policy
Management of FOREX
Indicator of Financial
Development

High Liquidity

Explain the role of financial system in economic development.

Explain the deficiencies of Indian Money market

Explain the functions of Foreign Exchange Market

Explain the participants in Indian Capital market

VOOV
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Total No. of Questions : 4]

P1793 [6032]-507

T.Y. B.Com.
BANKINGAND FINANCE -11
355 B : Financial Markets and Institutions in India -1
(2019 Pattern) (Semester-V) (CBCS)

(TS |UTR)

B : 27 ] [TEO T 50
guat:- 1) Hd U Ay .

Y.1) ) Terman Smm W, (SHIUTeETEl uTe) [5]
) e 71 ot fererram=n fAderes aré
) o TR EEdE U |) ST TUIRR
%) o omR g) eIt Ui
1) UOTO T WA i STerei=n e 3
) frimaeen a) e e
) Frigoer g) alerHd
i) reeeeeieeeennn BT EETSVITRN TR AT
) forera /PR Feen sAew @) et sARew
&) FU AR ) WEifehd gAY
iv) 379 Gediel Tt QU 9 SUITEISN AR WU ... .
) HAI0 SR 9) WS TR
W) WiSael IR g) aleiHd
V) eeeeeeeriiien HUT HH! LRI 3.
) TUEH WM ) AEHIRE U
%) HIUNR T /g g) 3 YA
vi) ... nea feifta wet ST,
H) O FER F) UEHE IEH TR
®) W IR ) WiSael dNR



) e Jeed. [5]

A o
i) eIt TuTR ) uriYes "EwE 9 R (1PO)
i) Tt 3= ATt AR q) fomm ifert
i) gEm Aty F) R A ST
iv) ufeeTe 399 g) forfia foemmaren ey
V) SRS ) T AT
g.2) fem feren. (Proreand 2M) [10]
o) o e Fevrs
) foriaen
F) U AW AR
) fafma x furom
¥.3) 31) snidew e foxfa gomedi=ht wite we w0 [8]
q)  WRA A0 SR Sufien T o, [7]
Y.4) ) wWHA I SR HE T [8]
)  URAE WIS SR Tgarl ges e &, [7]
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P1794 [Total No. of Pages: 4

[6032]-508
T.Y.B.Com.
355-C: BUSINESSLAW AND PRACTICE-II
(2019 Pattern) (CBCYS) (Semester - V)

Time: 2%2Hours) [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) A) Fill intheblank with the most appropriate aternative. (any five) [9]

) InlIndiathelaw related to workman compensation, child labour act
are called as

(Employment law, labour law, mercantilelaw, factories|aw)
i)  The purpose of labour law does not include

(Provides legal frame-work, employee satisfaction, workplace
democracy, industrial relations)

i)  The term means productive work especialy Physicaly
work done for wages.

(Labour, productivity, job, work)

Iv) The Indian labour law is majority concentrating on the problems
related to

(Labour welfare. child, women problem, factory work)

V) has formulated the employees provident fund scheme.
(ESIC, medica benefit council, the state government, the central
government)

vi) First Aid Boxesisto be provided for of persons under the

factories act, 1948.
(150 Persons. 50 Persons, 200 persons, 90 persons)

PT.O.



Match thefollowing:

ColumnA
) ILO a)
i)  First factory b)
i)  The employess state C)
Insurance act
Iv) National labour office d)

v)  TheChildlabour (Prohibition €)
and regulation)act

ColumnB

1881

1948

Safeguard the

interest of Labour

1986

Enhance social protection

Q2) Write short notes (any two) [10]
a Labour courts.
b) Disablement benefit
c) Licensing and registration of factories.
d) Employeesdeposit linked insurance.
Q3) @ Explainthequalification of commissioner labour. [8]
b) Explainthefollowing concept. [7]
)  Annua leavewith wages.
i)  Hours of work.
i)  Penalties for the offences.
Q4) a Explainthe objectives and scope of under the employees state | nsurance
Act, 1948. [8]
b) Explain the applicability and constitutional validity of employee’s

provident fund and miscellaneous provident act.1952 [7]

[6032]-508 2
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T.Y.B.Com.
355-C: BUSINESSLAW AND PRACTICE-II
(2019 Pattern) (CBCYS) (Semester - V)
(TS FUTR)
S : 2YoTH| [ weRot 7O : 50

goat:- 1) 69 99 AHaE oTE.
2) ARSI fEerelt T gut T gy,

¥.1) 1) fiwman Som @ (SioTaE 5) [5]

) ARG RN IR WU, SRR 3. Wi THUI=al sheme
.............. 319 U,

(SN HTIET, SR IS, HREHT HEIET, H HTereT)

(FrIRYiR faTHes M, HHe—aTa T, HTATTR AhRIe!, e daer)
11) ISR 1 YTegTE 312 TEUTSTE HSl{TS Shel SIUTR YIRS, i 2.
(iR, ScaTaehal, AR, )

(SATRTR SHe=T0T, STTSRTAATR, AT THEN, ShRGEAT=IT i)
V) rrreeeeeeeeeiens A = wiesm fatg e Tie ar et o,
(SuEATEHY, SR TN URWe, TST TR, hg THR)

Vi) wREE ®EE, 1948 AW ... Tt AfereR sahl ST

(150 ===ht, 50 ==/, 200 ==<ht, 90 =1=At)



) dra g o [5]
ThET A hRHET
) ST ) 1881
i) ufgen FREE & T) 1948
ji) e T fern @R ®) KT A &0t ot
iV) uue.en g) 1986
V) STTRR Ufcaer onfor fFama gt 3) WSt SReTT drefamt
¥.2) argerma feun forgt. (wivredt 2) [10]
3) HHIR AR—ARX
q) U AH
®) HREHT HEETE WEHT AT Aiguit
g) HHGUN Fud foerere femm e
¥.3) ) HRATHA HITR FEATEAR, HRFTR AR Ul TE . [8]
q) HREH AT gl wRE e 1948 37, aaardag Jifteh 61, ST ad,
TRIAE! €8 a1 Tehed-l T FH1. [7]
¥.4) 31) wHar T wEEl, 1948 o s s 9 S e . [8]
T) wUu wiosa fatg Fel snfor fafay wadt sttt e dear sufor
TEATCHE: AT TIE L. [7]
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P1795 [6032]-509 [Total No. of Pages: 4

T.Y.B.Com.
335D : CO-OPERATIONAND RURAL DEVELOPMENT-I|
(CBCYS) (2019 Pattern) (Semester - V) (Special Paper - 11)

Time: 2¥%2Hour] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) A) Fillintheblanks(amy five): [5]
) S.CB. Standsfor
a State Co-operative board
b) State credit Banks
c) Socia Co-Operative board
d) Society for Co-operative Business
i)  NAFED wasfounded in__ .
a 1958 b) 1968
c) 1908 d) 1918
i) D.C.C.W.S. stands for
a Digtrict Co-operative stores
b) District Consumer co-operative Wholesale stores
c) District Consumer Credit Workers
d) District Consumer Credit Wholesale.
IV) Thefirst dairy co-operative society war in 1913 at
a8 Anand, Gujrat b) Allahabad U.P.
c) Aurangabad-Maharashtra d) Ahemdabad, Gujrat

PT.O.



Vi)

Consumer Co-Operative are established for

a Welfareof society b) welfare of consumers

c) Wefareof Government d) Welfare of consumers.
The first co-operative sugar factory was formed in

d Pune-Maharashtra b) Pravaranagar-Maharashtra
c) Nagpur-Maharashtra d) Nask-Maharashtra

B) Matchthefollowingpairs: [9]
A B
)  Emarketing a Consumer Co-0p society.
i)  State co-operative
marketing federation b) Strategy for price
i)  Welfare of consumers c) Control on primary co-op society
Iv) Digtrict level society d) Marketing with new technology
v)  Pricing policy € Apex body of state
Q2) Write short notes (Any 2) [10]
ad Recent trendsin Co-operative marketing.
b) Progress of primary co-operative society
c) Development of consumer societies.
d) Problems of sugar co-operative society.
Q3) @ Statethevariouseementsof marketing. [8]
b) Statethefeaturesof co-operative marketing. [7]
Q4) @ Statethefunctions of national co-operative consumer federation.  [8]
b) Sate the problems of dairy co-operative societies. [7]
> > >
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[6032]-509

T.Y.B.Com.
335D : CO-OPERATIONAND RURAL DEVELOPMENT-I|
(CBCYS) (2019 Pattern) (Semester - V) (Special Paper - 11)

(WS TUTR)
A% : 26| [ wegot Ut : 50

go- 1) EE AR wisfau s .
2) STErREA 37k WIS Ui IUT gUifaEa.

¥.1)31) fewmn Snm /. (SKITTE ure) [5]
) wEEEH . 9.
) TST TEHENl HEH F) TS UG SR
®) HHIIH TEHN HSb T) UTHN FTEE TE=
i) TR ERTOAET ... et AT,
H) 1958 9) 1968
%) 1908 g) 1918
i) ST T . e, Ui,
31) foeq wgerdt wisr a) g agenr Tge wieh WISk
&) o U ud wHE g) FSeg ugsw ek uaEwen
V) udieht Heert g werEdt 191398 ... Yo T AT
) A, ToRE d) RS, IW I
%) SIRET, WENTY T)  IRHSETR, TS
V)  TITESh FEhT TR ... TSt TATIA hed AT,
)  EEE FHedmr ) R HedT
F) TERY FHEA0 g) alcTudhl AT
Vi) ufgen ageil R RREMT ............ QY TATYH ATAT.
A)  YUI-HENTY q)  TEAR-HERE
%) ATR-TERTY ¥)  feeR-HENY



q) T SISl Seal.

-
) 3-fomom 3)
i) Toa wgwt fouum wErEE )
jii)  TTgeRTel SHeToT )
iv) e wla daed B)
v) formeiforamdt eon 3)

¥.2) dresrma fom fergt. (o 3m)
HA) TEHEN UUATA Aelihsiel A
q)  TAfieh Rl TR W
%) U FEhN wern fore
T) ETER UgHN G 3N /THEn

¥.3) 31) fouurre fafay gew amm.
T) wEwi feourTeh SfereR @,

¥.4) 31) UEE ek UTgeh G A @0

q) U FEHN G AT GO

> > >
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Total No. of Questions : 4] SEAT No. :

P1796 [6032]-510 [Total No. of Pages : 3
T.Y.B.Com.
355E : COSTAND WORKSACCOUNTING - 11
(2019 Pattern) (Semester - V)
Time : 2Y2 Hours] [Max. Marks : 50

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) A) Fillin the blanks (any 5 out of 6). [S]
a) Normal is an example of selling overheads.
1)  Purchase 1) Bad debts
i) prime 1v) income
b) The Cost accounting standards are developed by

B) b)

1)  Cost Accounting Standards Board

1)  Financial accounting standards board

) Reporting standards board

1v) Recording standards board

Overheads are absorbed on the basis of absorption

1)  Rules i) policy

i) rates 1v) procedure

In activity based costing system, cost pool is like a

1)  unit i) centre store

1) cost centre 1v) driver

Asper CAS-15 overheads comprises selling overheads and

distribution overheads.

1)  Purchase i) production

i) banking 1v) marketing

Variable overheads vary with the volume of

1)  Output 1) charges

i) Rigid expenses iv) Flexible rates

Match the following. [5]

1)  Prime cost 1) Selling expenses

i) CAS-3 2) Providing a service

1) Service Cost 3)  Production and operations
overheads

1v)  Selling and Distribution

overheads 4)  Unaffected by variations

v)  Fixed overheads 5) Directly related to

production

PTO.



Q2) Short notes (Any Two out of Four). [10]
a) Cost Accounting Standards.
b) Explain the need for Activity Based Costing.
c) Classification of costs.
d) Absorption of overheads

03) The following data were obtained by M.K. Corporation Ltd., Nagpur, for the
six months ended 31-3-15. Calculate department overhead rates for each of
the production dept. assuming that the overheads rate are recovered as a

percentage of prime cost materials. [15]
Particulars Production departments |Service departments
“A” “B” “C” “X” “Y”
Direct materials (in Rs) 3,200 | 5,000 | 8,700 | 1,500 | 1,000
Direct wages (in Rs) 7,000 | 6,000 | 5,000 | 1,000 | 1,000
Employee numbers (numbers) 200 150 150 50 50
Electricity K.W.H 8,000 | 6,000 | 6,000 | 2,000 | 3,000
Light point numbers (number) 10 15 15 5 5
Capital value of Assets 50,000 30,000 {20,000 | 10,000 {10,000
Area occupied Sq. Mtrs (in sq Mitrs) 800 600 600 200 200

Other expenses for the period were:

Indirect expenses:

Production depts: In Rs.
“A” 660
“B” 780
“C” 900
Service depts:

“X” 900
“Y” 860
Material handling charges 400
Motive power 1,500
Electricity and lighting 200
Recreation room expenses 3,000
Depreciation 6,000
Repairs and Maintenance 1,200
General overheads 10,000
Rent and taxes 600

Apportion the expenses of service dept: “X” in the ratio of 4 : 3 : 3 and that of
Service dept.: “Y” in the proportion to Direct Materials.

[6032]-510 2



Q4) Star Ltd., has installed a Historical Costing System and follows the practise to
absorb overheads on the basis of pre-determined rate. The following
particulars are made available relating to the financial year ended on 31st March

2021. [13]
Particulars Rs.
Stock of Work-In-Progress 40,000
Factory overheads absorbed 84,740
Stock of Finished Goods 1,20,000
Actual Factory Overheads 1,09,740
Cost of Goods Sold 2,40,000

Determine unabsorbed overheads and indicate clearly the profit
implications of different methods of disposal of underabsorbed
overheads.

[6032]-510 3
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P1797 Total No. of Pages : 3
9 [6032]-511 [Total No. of Pages

T.Y.B.Com.
355 (F) : BUSINESS STATISTICS - 11
(2019 CBCS Pattern) (Semester - V)

Time : 2Y2 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of statistical tables and calculator is allowed.

Q1) Attempt each of the following. [1leach]
a) Fillin the blanks (any 5).

1)  Number of distinct ways of arranging 5 persons for a photograph
in a row 1s

i) Let X®»Bernoulli (p = 0.4) then variance of X is

1) Re order level = minimum levet +

iv) If event A and B are independent then P(A/B)= .
v)  Economic order quantity is the tool for controlling

vi) Xowpoisson with mean 1.2 then variance of x is

vi) If A & B are independent r.v P (A) = 0.5 & P (B)= 0.6 then
P (AnB)=

b) State whether following statement is true or false. [1 each]
1)  Adiscrete random variable takes uncountably infinite values.
i)  Set up cost incurred each time an order is placed.

) If o event A and B are not independent then

OB) pB)>0
P(B) '
iv) If XoB (n, p) then mean of X is n p.
v) Let XOP (A =2.4) then value of P (X = 0) = e24,

P(A/B)=

PTO.



(Q2) Write a short note on the following (any two). [5 each]

a) Discrete random variable.

b) Limitations of classical defination of probability.

c) Assumptions of EOQ model when shortages are allowed.

d) Poisson distribution.

03) A) Attempt the following.

a)

b)

Define the following. [4]
1)  Sample Space.

i)  Mutually exclusive event.

i) Relative compliment of event A.

1v) event.

The probability of defective bolt is 0.1. Let X denotes the number
of defective bolts in a box of 20 bolts. Find the probability of the
defective bolts will be. [4]

1)  atleast two.

1) at most three.

B) Attempt the following.

a)
b)

Define Economic order quantity and Recorder level. [4]

Define conditional probability with illustration. [3]

04) A) Attempt the following.

a)

b)

[6032]-511

A dealer supplies the following information with respect to a
product. [4]

Annual demand - 1000

Ordering cost - 10 Rs. per order
Price per unit - 20 Rs.

Inventory carrying cost - 20%
Back - order cost - 25%
Determine:

1) EOQ.

1)  Optimal number of orders.

Define Binomial distribution with parameter n & p If X B
(n =35, p=0.5) then find its mean & variance. [4]

2



B) Attempt the following.

a) The p.m.f of a discrete random variable X is given by.

X -1 0 1
p X=x) 0.25 0.5 0.25
Find variance of X. [3]
b) Let (X, Y) denotes the bivariate discrete random variable with joint
p.m.f given.
Y-
X 1 -1 0 1
R I R
- 12 12 12
o322 ]
12 12 12
Find marginal distribution of Y and hence E (Y). [4]
x X X

[6032]-511 3
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T.Y.B.Com.
355(G) : BUSINESSENTREPRENEURSHIP- 11
(2019 Pattern) (Semester - V) (Special Paper - 11)

Time: 2¥%2Hour] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) A) Fill intheBlanks(any 5) [5]

1) A micro enterprise investment in plant & Machinery does not
exceed to Rs crore.
a Three
b) Two
c) One

i) Micro, Small and Medium Enterprises(MSME) Actisformed inthe
year :
a 2001
b) 2004
c) 2006

i) Inservicesector, thesmall enterprisesinvestment in equipment does
not exceed to Rs.

a 1Crore
b) 2 Crore
c) 5Crore
iv) A Is an important groundwork of an enterprise.
a Project
b) Audit

c) Baancesheet
V) Net profit ratio a'so known as
ad Net profit volumeRatio
b) Net profit Marginratio
c) Net profit Growth Ratio
vi) MIDC was established in the year

8 1960
b) 1961
c) 1962

PT.O.



B  Matchthefollowing: [9]
Group ‘A’ Group ‘B’
) COVID-19 a No Profit no loss
i)  Atmanirbhar Bharat Abhiyan b) 1972
i) Micro, small and medium
Enterprisss(MSME) chdlenges ¢)  Deficitin Demand
Iv) Break Evenanalysis(BEA) d) Fivesteps
v)  Technical consutancy
Organization (TCO) €) Lack of Skilled worker
Q2) Write short notes (Any 2) [10]
a COVID-19impact on Micro, small and medium enterprises (MSME).
b) Limitsof MSME.
c) Classification of Project.
d) Maharashtralndustrial development corporation (MIDC).
Q3) @ What is micro, small and medium Enterprises (MSME)? Explain the
classification of Enterprises. [8]
b) Explainthe Udyam Registration portal. [7]
Q4) @ What isproject? Explain the reasonsfor failure of project. [8]
b) Explainthevariousfinancia assistancethrough MIDC and SIDBI project

assistance. [7]

[6032]-512 2
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T.Y.B.Com.
355(G) : BUSINESSENTREPRENEURSHIP- 11
(2019 Pattern) (Semester - V) (Special Paper - 11)

(WSt TUTR)
S : 2YoTH| [ weRot 7O : 50
guat:- 1) @9 99 HiEau e .

2) VARSI 37k THT™ YUl T[0T UieraTd.
3) weWiEd! ST UUfeRt ugrEd.

¥.1) 1) fiwmn Snm /. (FIUTETEl are) [5]
) TEETEE GeH TG Hhell AU TaaUE 6 ........... RISt veT WA

iii) v e TEmEid AU TR STRTA S ..o AT W 9.



HA) 1960
o) 1961
%) 1962
) SIS L
DA e ‘T
) wifag - 19 1) 1A e
i) SR wra siftrm ;) 1972
i) TH.UA.TA.3. 3 =) I 1L 1 s
V) wu-vg faseu (st.3.u.) ) U W

V) it OgrR e (SLELeN.) 3) I hITHI hHaal

¥.2) e fergr. (ot S)
) TgH, TTY 3TUT HEAH IUhA (THUHURE) ITeR hifag — 19 = 99w,
)  GgH, 7Y STUT HEAd IUshH (THUHUAS) =41 Waiel.
%) Uchourd ShIUT.
) WHERTE SirEnfie fawm ugmees (. ema.EL.)

[5]

[10]

¥.3)31) ¥gH, &Y U UeAW IUhH (THUHUHE) FEUNS hidl ? SUhAT fafarer arffentor v

<hl.

)  ITW AUl W T .

¥.4) 31) Yehed TZUTH hTdl ? Tehed TIYRE ZIUdTeil ShRUI T2 1.

[8]
[7]

[8]

q) Uheu UERATE! WERTY Sitenfeh fowm wgmise onfun WRdane oy sitenfis

feremra dangr fafarer snfeies = we =,
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T.Y. B.Com.
355 H : MARKETING MANAGEMENT - Il
(2019 Pattern) (CBCS) (Semester - V)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) A) Fill in the blank with the most appropriate alternative (any Five):
[S]
1)  The purpose of non-profit organizations is to
(provide services, earning income, making a profit)

1)) IS the demand created in the minds of consumers for a
product not available in the market.

(Declining demand, L atent demand, Negative demand)

i) iIsthe process of estimating acompany’s sales revenue
for a specific time period, commonly a month, quarter, or year.

(Market demand, Salesforecasting, Marketing)

V) Isone of the external factorsthat affect the marketing
organi zation.

(Distributors, Production process, Top management)

V) are concerned with creating alasting impression among
consumers, improving product sales and market share.

(Brand Manager, Consumer, Manufacturer)

vi) All the try to impress the brand of their product in the
mind of the consumer.

(Manufacturer, Purchaser, Customer)

PT.O.



B)

Match the following :

[5]

Column A Column B
) A dedrebacked by economic |@ RatioAnaysis
power
i)  Non-profit Organization b) Two companies come together
to promote each other
i)  Geographical Marketing c) Averylargemarket
Organizations
Iv) Double Brand Strategy d) CharitableTrust
v) SdesForecasting Method |e) Demand

(02) Write a short note (any two) :

a)
b)
c)
d)

03) &)
b)

04) 8
b)

Delphi Technique

Features of Non-Profit Organization

[10]

Customer Oriented Marketing Organization

Brand Strategy

Explain thetypes of demandsin Marketing.
Explain the problems of the Non-Profit Organization.

Explain thefactors affecting on Marketing Organization.
Explaintheimportance of Building aBrand Strategy.

[6032]-513
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T.Y.B.Com.
3551 : AGRICULTURAL AND INDUSTRIAL ECONOMICSH |
(CBCS 2019 Pattern) (Semester - V) (Paper-I1)

Time: 2Hoursg] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) A) Fill inthe Blanks (Attempt any 5 out of 6) [9]
1) Which sector contributes the most to India's Economy.
a  Service sector b) Manufacturing sector
c) Agriculturesector d) Small scaleindustries
i) Which of thefollowing Industry is Not depend on agriculture sector.
a ITindustry b) Sugar industry
c) Juteindustry d) Textilesindustry

i)  Themagor problem of agricultural marketingin Indiais
a Pricefluctuations b) Low agricultural productivity
c) Uncertainityinmoonson d) Non-availability of seeds

IvV) Themajor problem of agricultural processing industriesis .
a Low quality of raw material
b) Low quality of Human capita
c) Price fluctuationsinraw materia
d) Lack of knowledge.

v)  What isthemajor role of public sector in economic development of
India?

a Strongindustrial base b) Generation of employment
c) Export promotion d) All of theabove

PT.O.



vi) Themodel APLM act was passed in

a 2020 b) 2018
c) 2017 d) 2016
B  Matchthefollowing: [9]
)  Lack of transport facility a 2017
i)  APLM act b) Problemof agriculturd marketing
i)  Hedth ¢) Reductionin public ownership
Iv) Disnvestment d) Heathsector
v)  Export promotion e SEZ
Q2) Write ashort notes (Any 2 out of 4) [10]
a) Scope of agro processing industries.
b) Problemsof agricultural marketing.
c) Importance of sugar industry.
d) Issuesregarding deregulation.
Q3) @ Explainindetail the problems of agro processing industriesin India. [8]
b) Describethe present status of food retail marketing systemin India. [7]
Q4) & Explainindetail theimportance of agro based industries. [8]
b) Write a detail note on disinvestment and future economics reforms of
India [7]
> > >
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T.Y.B.Com.
355(J) : DEFENCE BUDGETING, FINANCE &
MANAGEMENT (Special Paper-I1)
(2019 Pattern) (Semester - V)

Time: 2%2Hours) [Max. Marks: 70
Instructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) Attempt any fiveof thefollowing (Any five) [5%2=10]
a What is Joint Common Test Set (JCTS)
b) Definesecurity.
c) Definefinance.
d) Statethe meaning of development.
e) Definebudget.

f)  Define defence budget.

Q2) Attempt any four of the following (Any four) [4%5=20]
a Lineof Actual Control (LAC)
b) DPSU'S
Cc) Ministry of defence
d) SCO- Shanghai Cooperation Organisation

e Weapons

PT.O.



Q3) Attempt any four of the following (Any four) [4%5=20]

a)
b)
c)
d)

€)

Explain weapons procurement policiesin Indiasince 1947.

Explain basic aims and objectives of Defence public sector undertaking.
State the role of the US Pacific Air Forces (PACAF)

Explain the political aspects of defence production.

State the future prospects of the defence debate.

Q4) Attempt any two of the following (Any Two) [2x10=20]

a)
b)

c)

Explainindetail IndiasMissile Systems.

State the role of the department of Defence production.

Explain in detail information and role of Defence public sector

undertakings.
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T.Y.B.Com.
355- K : INSURANCE, TRANSPORT AND TOURISM-I 1
| nsurance Special Paper
(2019 Pattern) (Semester - V)

Time: 2%2Hours) [Max. Marks: 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) A) Fill inthe Blanks (Attempt any 5 out of 7) [2x5=10]
)  Risk management isconcerned with
ad Arranging and controlling of activities
b) Planning arranging and controlling of activities
c) Managingof funds
d) Contralling
i)  Insurance is based on Transfer of Risk of the

d Insured person b) Insurer

c) Aget d) Noneof these
i) In the concept of Insurance. Risk awaysimplies a

a Doubt b) Mitigation

c) Probability d) Allof these
Iv) __ isNot a Type of Hazard.

a Legarisk b) Social risks

c) Physcal risks d) Persona Risk
V) Risk Insured against death is a contract of

a Agreement b) Permission

c) Assurance d) Caveat emptor

PT.O.



vi)  When does a policy lapse?

ad Nopremium paid b) Sickness

c) Address change d) Leavingthecity.
viii) N.C.B. stands for

ad National Co-operative Bank

b) Nationa credit Bureau

c) NoclamBonus
d) No Change Bonus

B) Matchthefollowing: [9]
1)  Fundamental Risk a Changesinthe economy
i)  Particular Risk b) Stable Environment
i)  Static Risk c) Accident
Iv) Pure Risk d) Physca disability
v) DynamicRisk e Unemployed
Q2) Write short notes (Any 2 out of 4) [10]

a  First premium.

b) Risk prevention and avoidance.
c) Pricing elements.

d) MarinelnsuranceAct 1963.

Q3) @ Explaintheconcept of “Daysof Grace” in different types of insurance.[§]

b) Statetheinsurance and Risk Management Techniques? [7]

Q4) @) Explainindetail Rate Computation. [8]

b) Explaintheimportance clause under Public Liability InsuranceAct.1991.
[7]

6 6 o6
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T.Y.B.Com.
355(L): COMPUTER PROGRAMMINGANDAPPLICATION-I|
Computer Networking & E-Commer ce-l
(2019 Pattern) (Semester-V)

Time: 2%2Hoursg| [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) A) Fillintheblanks. (Attempt any 5 out of 6) [9]
a topology requires a central controlleror hub.
) Star i) Mesh
i)  Bus Iv) Ring
b)  topology requires a multipoint connection.
) Mesh i) Star
i)  Ring Iv) Bus
c) Ina___ connection morethan 2 devices can share asinglelink.,
)  Point-to-point i)  Primary
i)  Multipoint Iv) Secondary
d) Theentitiesinthesamelayer ondifferent machinesarecalled
)  hosts i) Peers
i)  Protocols Iv) IMP's
2) ismain function of the transport layer.

)  Process to process delivery

i)  Noteto node delivery

i) Synchronization

Iv)  Updating & maintenance of routing tables.

f)  The OSI model has layers.
) 4 i) 5
i) 6 iv) 7

PT.O.



B) Matchthe following. [9]

List-I List-l1
a) Datalink layer I)  Encryption
b) Network layer i)  Connection control
c) Transport layer i)  Routing
d) Presentationlayer Iv) Framing
Q2) Short notes. (any 2 out of 4) [10]
ad Bluetooth
b) Seria Network
c) Hafduplex
d) Radio Transmission
Q3) @ Explain the computer network concept and types of networks. [8]
b) Explainguided media(Wired) withtypesin detail. [7]
Q4) @ Explain Network Interface Card (NIC) and its components. [8]
b) Amazon case study-Tearing Down the whole business: [7]

Amazon runs a plat form business model as a core model with several
business units within some units, like prime & the advertising business
arehighly tied to thee-commerceplat formfor instance prime help. Amazon
reward repeat customersthus enhancing its platform business other units
like AWS hel ped improved A mazons tech infrastructure. Today Amazon
Is a tech gaint who dominated the e-commerce business by offering a
wide dominated the ecommerce business by offering a wide variety of
product at low cost & with adelivery service propelled by its inventory
management infrastructures built over theyears.

But if Amazon is an extremely complex company which cant be easily
labled. how can we called its business model ?

Amazon mission statement isto serve consumer through online, physical
stores and Focus on selection, price and convienience.

Amazon vision statement isto be Earth’smost customer centric company.

Where customerscan find and discover anything might want to buy online
and endeavors to offer it's customer the lowest possible pricess.

)  What isthe main idea of the case study?
i)  What isthe problem that you can identify?
i)  What are the possible solution that you can give?
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[6032]-518
T.Y. B.Com. (Semester - V)

356(a) : BUSINESS ADMINISTRATION - 111

Finance
(2019 Pattern) (Special Paper - 111)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

All questions are compulsory.

Figures to the right indicate full marks.

1)
2)

Q1) A)

Fill in the Blanks (Any 5) : [5]

1)

ii)

iii)

1v)

Euronext is the stock exchange of

a) The united kingdom

b) France

¢) European union

A forecast is not

a) a prediction of future events

b) based on expert opinion

c) a budget

Public deposits are the deposits that are raised directly from

a) the public

b) the directors

c) the owners

Rate of return on capital is exceptionally high in
a) Under Capitalization

b) Over Capitalization

c¢) Working Captial

The headguarters of Investment Information and Credit Rating
Agency (ICRA) Limited is located in

a) Mumbai

b) Gurugram

¢) New Delhi

PT.O.



Vi) shares carry priority rights.
a) Equity shares
b) Preference shares
c¢) Debentures

vil) Merchant Loans are Loans.
a) Short Term
b) Medium Term
¢) Long Term

B) Match the Pairs. (Any 5) [5]
Group A Group B
1) SEBI a) Total amount of Long term
funds available to the company
11) NSE b) Current Assets
1i1) CRI SIL ¢) Long Term source of Finance
iv) Bridge Loans d) Short Term Loan
v) Equity shares e) Credit Rating Agency
vi) Capitalization f)  Nationa Stock Exchange
vii) Working Capital g) Securities Exchange Board of
India
02) Write Short Notes on [Any 2] [10]

a) Routine Functions of Finance
b) Scope of Financial Planning
c) Capital Structure

d) Trade Credit

03) a) Write the objectives of Financial Management. [8]
b) Explain the methods of Estimating Financial Requirements. [7]
04) a) What do you mean by Under-Capitalization. [8]

b) State the difference between Equity shares and preference shares. [7]

lClodoe
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T.Y. B.Com.
365 B : BANKING AND FINANCE - 111
Banking Law and Practicesin India - |
(2019 Pattern) (CBCS) (Semester - V)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto the right side indicate full marks.

Q1) A) Fill in the blanks (Attempt any five) : [5]
1)  Section 17 of Banking Regulation Act dealswith
a Reserve Fund b) Cash Reserve
c) Audit d) Banking Ombudsman
1)) section of Banking Regulation Act 1949 define word
‘banking company’.
a 4B b) 5C
c) 6B d 10B
Iii) IS not the negotiable instrument.
a Cheque b) Promissory Note
c) Bill of Exchange d) Currency Note
V) IS not an objective of the Insolvency and Bankruptcy
Code, 20167
a Promotingavailability of credit
b) Promoting entrepreneurship
c) Insolvency resolution of corporate persons
d) Recovery of loans by creditors
V) Regulates Insolvency Professionals.
a) Ministry of Corporate Affairs
b) Insolvency and Bankruptcy board of India
c) National Company law Tribunal
d) ReserveBank of India
vi) The Banking Ombudsman Scheme is introduced under
a Section25A b) Section30A
c) Section35A d) Section40A

PT.O.



B) Match the following :

[5]

)  Central Bank of India a Section5B
i)  Definition of word ‘Banking’ b) 2016
i) Negotiableinstrument Cc) Section44A
Iv) Insolvency and Bankruptcy Code d) RBI
v) Voluntary Amalgamation e) Fredly Transferable
(02) Write Short Notes (Any 2) : [10]
a  Compulsory Amalgamation
b) Dishonour of Cheque
c) Insolvency and Bankruptcy board of India
d) Banking Ombudsman
03) @ Explain the powers of Reserve Bank of India. [8]
b) Explainthefeaturesof Negotiable Instruments. [7]
04) @ Explainthe powers and duties of Banking Ombudsman. [8]
b) Explain the Importance of Insolvency and Bankruptcy Code 2016. [7]

VVVV
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T.Y. B.Com. (Semester - V)

356C : BUSINESS LAW AND PRACTICES - |11

(2019 Pattern) (CBCYS) (Paper - I11)

Time: 2%2Hours] [Max. Marks: 50
| nstructions to the candidates:

1)
2)

01) A)

All gquestions are compulsory.

Figures to the right indicate full marks.

Fill in the blank with the most appropriate alternative (any Five) : [S]

1)

ii)

iii)

1v)

is not a penalty that can be imposed under
the Custom Act 1962.

a) Confiscation of goods b) Imprisonment of the offender

¢) Monetary fine d) Revocation of Passport

Under circumstances can the Customs department
seize and confiscate goods and conveyance under the Customs
Act of 1962.

a) Non-payment of customs duty

b) Smuggling
¢) Misdeclaration
d) All of the above
is not a benefit of GST in India.
a) Reduction in tax evasion

b) Simplification of tax structure

¢) Increase in tax rates

d) Boost to the economy

1s an example of a zero-rated supply under GST

in India.

a) Exports of goods or services

b) Supply of goods or services within the state
¢) Supply of alcoholic beverages

d) Supply of luxury goods

PT.O.



V) documents are required for GST registration in India.
a) PAN card of the business
b) Aadhaar card of the authorized signatory

¢) Address proof of the business
d) All of the above

Vi) GSTR form is used to file annual returns for regular
taxpayers
a) GSTR-1 b) GSTR-2A
c) GSTR-3B d) GSTR-9

B) Match the following : [5]

Column 'A' Column 'B'

1)  The document required for a) Annual return to be filed once
the clearance of goods for each financial year

exported from India.
i1) The type of duty levied on b) Shipping Bill
goods exported from India.

ii1)) GSTR-3B ¢) Return has to be filed by a
composition dealer
iv) GSTR-4 d) Export Duty
v) GSTR-1 e) Monthly return for regular
taxpayers
(02) Write a short note (any two) (150 words each) : [10]

a) Prohibited goods as per Custom Act 1962.
b) Reverse Charge Mechanism.

c) GST rates applicable for goods and services.
d) Process for GST return filing.

03) Answer the following questions
a) Under what circumstances can goods and conveyances be confiscated
by the Customs department? [8]
b) What are the different types of GST in India? [7]

04) Answer the following questions :

a) Explain the key functions and responsibilities of the GST Council in
India. [8]
b) What are the Offences & Penal Provisions under GST Laws? [7]
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T.Y. B.Com. (Semester - V)

356C : BUSINESS LAW AND PRACTICES - I
(2019 Pattern) (CBCS) (Paper - I11)

(TS FUTR)
ae : 2> a1 | [ o 7707 : 50
e :
1) @d g7 sifAErt amga.
2) SRS faeieht wEar qut o7 gvteaT.
yy7 1) ) TAld IRG wEiEE e SR W (R ae) ¢ [5]
i) HHIe® HEEl 1962 ST .oeeneneennnnne. 21 92 TRRAT AT ITehd
.
) IS TH wO F) T T
&) IiofeR 9 ¥) URUA ® O

iii)

................. TRTEA HHTgTeeh fasmT 1962 2o Hiemyleeh shiaendar
T JATUT STH i ITehal.

)  HHe A WO q)  aERd

%)  ehrel TS0 g) i@

................ T HRATd SHUHEl < T AT

) T GHA HH 0! )  H TEHY OREER

®) WA AR ) AT AT
HRATHA SHTEE HATA I-T GEGA ..o 2 ST 31
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¥ 3)

vi) Fafra e aifts fied et GSTR it arore

ST,
) GSTR-1 ) GSTR-2A
&) GSTR-3B g) GSTR-9
) A A B - [5]
e - ) A
i) wRawg e )  arfies e ucaes anfefew
HTAT B[S JTavaeh TYTETS! Uehel T AR
AT
ii) vRaeD FaagurenaeTeR |) iR e
TRRUATA JUTT=AT IR ThR
i1) GSTR-3B &) fed snlEom dem s
SIUG
iv) GSTR-4 g) faia yoen
v) GSTR-1 3) Fafie seemeEdn Tt
fred
offgerd feun fern. (STt 2M) - [10]

)  HHEEew wEe 1962 TaR ufdatd s,
F) TS SRR IO

®) T ST VTS AR ST At &
3) ShuEdt fed woamh afsean

WA I9AT=dt 3T =
) IS [AHRTRSA ShIUTeT URTEI S 3TTTUT STEdeh STH ohelt SITS: ITehd ?
[8]

¥) URAW SieEd = fafay TR wom sga? [7]
WA TP ST 2
)  WRAT SCHE = ToEATLd Shuad! aRweeh TaE R et Serser
Y . [8]
q) S HEEid T 0T e T i A ? [7]
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T.Y. B.Com. (Semester - V)
356 D : CO-OPERATION AND RURAL
DEVELOPMENT - 1|
(2019 Pattern) (CBCYS)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) A) Fill in the blank (any five) : [5]
1)  Co-operatives in India followed by structure.
a) Unitary b) Federal
c¢) Centralised d) Decentralised

i1) Admission of members in a co-operative society is the duty of

a) President b) Secretary

c¢) General Body d) Managing committee
ii1)) The urban co-operatives are also commonly known as

a) Urban co-operative Banks

b) Co-operative Banks

c¢) National Banks

d) None of these

iv) Human Resource Management emphasises

a) Development of people
b) Punishment to people
c) Adoption of people

d) None of these

PT.O.



v) Training is process.

a) Short Term b) Medium Term
c¢) Long Term d) Production
vi) The Decision relates to day to day operation in co-operative is
known as Decision.
a) Major b) Organisation
c¢) Personal d) Operative
B) Match the following pairs : [S]
A B!
1)  Principle of co-operative a) Executive Body of
management co-operative society
i1) Board of Directors b) Set of rules in co-operatives
ii1)) Recruitment & Training c) Selection of Alternatives
iv) VAMNI COM d) H.R.D. Management
v) Decision Making e) Co-operating Training
Institute
02) Write Short Notes (Any Two) : [10]
a) Scope of co-operative management
b) Levels of Management
c) Co-operative philosophy
d) Steps in Decision making
03) a) State the functions of co-operative management. [8]
b) State the duties of Board of Directors. [7]
Q4) a) State the process of Appraisal & Evaluation. [8]
b)  State the measures to overcome the defects in co-operative management.

[7]

000
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(AUt EaTR)
ae : 2> a1 | [ o 7707 : 50
G
1) @d g7 Qrsfan sravaes g,
2) IwEieREieT 37k TYATR Ut 0T Feffaard.
ysr 1) 1) e S o (ST ar) [5]
1) YR SghREl AT ... TR 3R,
3) UHHE 9) Wit
%) e g) foehg
ii) TEHN FAECHES AHTEEHE AT U R ..o < e R
HA) FEIA ) uafra
W) EYRU UEB g) SHCEUTIH At
iii) vl TEH EE AT .. TR Ggl 3w Aaw.
) el Hewhrl SR q)  HERE SR
&) U S g) ITdeh AR
iv) WHE TEEYA SR ............... =R W oo s
H) e foreR q) AR e
%) CARMAT TRt g) ARt ATE
V) ORI oo Tfshan 3T
)  SACURIAA q) HAHGHTA
%) feseRmei ¥) S
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Vi) RN 3 IR gaem Romer ... B

ICPRIGIGH
A)  wE q)  EHEATHR
&) SFwhIh ) el
q) W A o5 ¢ [5]
A El
) VEHERTATACAN T H)  HEhN AAEE HEER HS5
i) deTeIH US® 9) UHNA Hawrn =
iii) et anfor ufdreror ®) v e
iv) dgRaHTE HEd TICIE T) WHI GEEA SHEEATH
v) ot ufsen 3)  TEHR U 0T TR
¥ 2) e feun fere. [10]
31) WEHR HATEATIAT SATH
F) SHIEUTIAT TR
®) HEHNA qealst=

g) foa uiskadict e

9T 3) 3) UEHN TEEATAT HE A, [8]
F) HTCTh HETH! Shasd |, [7]
T 4) 1) HUGN GeIHIUA IO HeaTeh-Te Tishat @R, [8]
q)  FEHN HEEATATA Q19 G HOATEES! AT TR, [7]

ao0o

[6032]-521 4



Total No. of Questions : 4] SEAT No. :

P-1807 [Total No. Of Pages : 3
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T.Y.B.Com
356E: COST AND WORKS ACCOUNTING - 111
Techniques of Cost Accounting
(2019 Pattern) (Semester-V) (CBCYS)

Time: 2Hoursg| [Max. Marks: 50
Instructions to the candidates :

1)  All questions are compulsory.

2) Figuresto theright indicate full marks,

Q1) a) Fill in the blanks (any Five): [9]
1) Margina Costing is aso known as

ad Indirect Costing b) Variable Costing c) Fixed Costing
2) Budgetisawrittenplanof

a Action b) Reaction c) Environment.
3) Requisites for Inter-firm comparison system is

a Budgetary Control b) Margina Costing ¢) Uniform Costing

4)  MISnormally found in amanufacturing organization will not be suitable
in the

a)  Service Sector b) Banking Sector c) Agriculture Sector

5) SaesMinus Variable Cost = Fixed Cost Plus-------

) Loss
i)  Profit
i)  Zero

P.T.O



6)

b)

Q2) Write short notes (any Two):

a)
b)
c)
d)

Q3) 8

[6032]-522

Is a document, booklet or a bulletin in written form containing
instructions to be followed in connection with cost ascertainment and
cost control.

a Uniform Cost Manua
b) Inter-firmcomparison

c) Uniform Costing

Match the pairs (any Five): [9]
Group A Group B

A | SCM I Uniform Costing

B | Summary of all budgets Il | PV Ratio

C | Usedby several undertaking |11 | Actual Sales-Break Even Sales
same costing principles and
practice

D | Aratioexpressrelationship |1V | Supply Chain Management.
between contribution and
sales

E | Marginof Safety V | Master Budget

[10]

Advantages of Uniform Costing

Cash Budget

Features of Supply Chain Management
Limitationsof Inter-firm comparison

ForbesIndiaLimited, Pimpri providesyou following detailsfor the month

Sept. 2021

1)
i)

ii)

Sales Rs.4,00,000
Variable Cost Rs.2,00,000
Fixed Cost Rs.1,00,000

[8]



Find out
1)  Contribution
i)  P/V Rato,
i)  Break Even Point [Rupees] and
IvV) Marginof Safety
b) Definetheterm Uniform Costing. State the objectivesof Uniform Costing.

[7]

Q4) @ The expenses budgeted for the production at 60% capacity of OM

Industriesare given below: [8]

Particulars Amount (Rs)

Variable Overhead

Indirect Materia 6,000

Indirect Labour 18.000

Semi- Variable Overhead

Electricity (40% fixed) 30,000

Repairs (80% fixed) 3,000

Fixed Overheads

Depreciation 16,500

Insurance 4,500

Saaries 15,000

Estimated direct labour hours 1,86,000

You are require to prepare Flexible Budget at 50%,60%; 70% capacity also
calculate overhead rate.

b) Explaintheterm Supply Chain Management. State the important features
of Supply Chain Management. [7]

THTRY
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T.Y.B.Com
(356(F)) : BUSINESS STATISTICSHII
(2019 Pattern) (Semester - V)
Time: 2%2Hours] [Max. Marks: 50

I nstructions to the candidates :

1) All questions are compulsory.
2) Figuresto theright indicate full marks.
3) Use of dtatistical tables and calculator is allowed.

Q1) a)

b)

Fill in the blanks. (any five) [9]

1)  The number of defects can be controlled using ~ chart.

1) EOL stands for opportunity loss.

i) In game theory saddle point does not exist if minimax
maximin.

1v) A process is said to be under statistical control if it operates with

causes.

v) Invariable control charts first we alwaysdraw _ control chart.

vi) P chart is type control chart.

State whether each of the following statement given below is true or false:

[S]

- . . - R
Upper control limit of Xin case of X and R - chart is X+ .
d,+/n

Value of game is always negative.
R chart is quantitative type control chart.
Control chart does not apply on continuous production process.

If quantity in hand is more than demand then there exist apportunity
loss.

P.T.O.



Q2) Attempt any two of the following.

a)

b)

d)

Q3) a)

Explain the following terms

i)  Expected monetary value [1]

i)  Sequencing problem [3]

i) Capability index [1]

i)  Give on example of each a) assignable causes b) change causes[1]

i)  State Laplace criterian in game theory. [1]

i)  Obtain the saddle point for the following game. [2]
Company A

. 18 16
ompan
PAY Bl 17 11

iv) Explain pure and mix strategies in game theory. [1]

Solve the following game : [9]

Player B

Bl B2 B3

A8 8 7

Player AA,|6 7 2
A5 6 1

Number of defects in 8 different pins manufactured are as follows : [5]
0,0,1,1,3,2,0, 2. construct R chart.

The maintenance cost and resale value per year of a machine whose

purchase price is Rs. 10000 is given below. [8]
Year 1 2 3 4 5 6 7 8
Maintenance cost{1000 [ 1600|2000 | 2500 | 3000 | 4000 |5100 [ 7000
(in Rs)
Resale value 6000 {3500(1600 | 800 | 700 | 500 | 400 | 400
(in Rs.)

When should the machine be replaced?

[6032]-523 2



b) From the following pay off (profit), table, determine the optimal strategy

using maximax, minimax, EMV criterian. [7]
Actions Payoffs conditional on Events

A B C D

S, 8 0 -10 6

S, —4 12 -18 =2

S, 14 6 0 8
Q4) a) Write a note on sequencing problem. [9]
b) Explain graphical method to solve 2x2 game. [9]

c) From the following find payoff table. Demand of an item can be 0 to 4

units per day. purchase price per unit is Rs 30. selling price per unit is
Rs.40 unsold stock is complete loss. [9]

Q000
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T.Y. B.Com.
356 (G) : BUSINESS ENTREPRENEURSHIP - [11
(2019 Pattern) (Semester - V) (Special Paper - 111)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) A) Fill in the Blanks (Any 5) : [5]
1)  Now adays alot of stress is being put on the of the
employeesin the organization.
a) character b) behaviour
C) rewards

i)  Organization behaviour in entrepreneurship helps to understand
behaviour of human in

a work placeonly b) society only

c) work place and society
Iii) Is a study of group behaviour.
a Psychology b) Physiology
c) Sociology
V) Is an Indian businessman of Serum Institute of India
a BabaKayani b) Adar Poonawala

c) AnandMahindra
v)  Kiran Mazumdar Shaw is the founder of

a Biocon b) Bharat Forge
c) Nykaa
Vi) group exist primarily to fulfill personal rather than
organizational needs.
a Formal b) Informd

c) None of the above

PT.O.



B) Match the following : [5]

Group A Group B
1) | Model of organizational behaviour| @ | Friends
i) | Theory of personality b) | Arcelor
iii) | Laxmi NiwasMuittal c) | Physica
V) [ Informal groups d) | Trat
V) | Factor of personality e) | Custodial
(02) Write short notes (Any 2) : [10]
ad Natureof organizational behaviour for entrepreneurship.
b) Characteristics of personality.
c) Mr. Adar Poonawaa.
d) Group Cohesion.
03) @ Whatisorganizational behaviour? Explaintheimportance and objectives
of organizational behaviour. [8]
b) Explainfactorsof personality. [7]
04) @) Explaintheautobiography of Mr. Shiv Nadar (Indian Industrialist). [8]
b) Explainthe functions of group dynamics. [7]
VVVV
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356 (G) : BUSINESS ENTREPRENEURSHIP - 111
(2019 Pattern) (Semester - V) (Special Paper - 111)
(AU EUTR)
ae : 2> @ | [ Tegor 7707 : 50

guAr: 1) @ g Qistan sifAard o,
2) SIS 3%k gyATE QUl U7 FIifaard.
3) deyurardt susht gvAafAeT ugrE.

gyg 1) 1) fwmn Smm . (SRvEE ue) [5]
) STTeRTA TR HUCTITE ................. TR U 10T 3 372,
H) @t q) oG
&) oM
i)  SENSTeRddie XUl T HFE aad T ............... 71 fehoft wea
.
) e ShHIHTI STET q)  Therd QU
)  HME O AT THSA
11) IR F1 T TAATE 3 3R,
A)  UHEEIEA )  IRRfeEe
®) GHSIRA
1Y) 2 i 3fRede A Sfeama WRd ™ SuRt oTTed.
31) ST FHeAToRt q)  HTR YAET
%) Mg ufgs
V) RO R i e, S TEATIF: AR
) SR ¥) WRA WIS
&) =R
V) IS TR TG HEUTeHE TRAT YU SHRUaTUasit Jeferieh TR
Ut FRUITETE ST ST,
)  situenfien ) U

) TcTUeh! IR AT
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) S . [3]

e F e T
) | dxTHe gdATe Hige H) | =
i) | wafermreTen frgma q) | AR
jii) | =rexft Fema e &%) | wRws
V)| sruenieR e T) | Al
V) | =afeauearen gew 3) | UTeTwha
o7 2) few formn. (wtvreerd g) [10]

HA) ITAHAES! TEATHE T TET.
q) fcrmaTe SfYTL.

*) ot 3SR YA,
) e U,

g9 3) ) THAHSE dd- TEUNS Thidl ? TESHTCHERH dd-Tel g STfuT 328 s . [8]

T) SAfFuTET™ e TE w. [7]

gvT 4) ) soft e AR (aRdE SEnTd) T st T L [8]

q)  AYE AT S T . [7]
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T.Y. B.Com. (Semester - V)
356H : MARKETING MANAGEMENT - |11
(2019 Pattern) (CBCYS)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto the right indicate full marks.

Q1) A) Fillintheblank (any Five): [5]
)  E-Advertising are for level.
a Nationd b) Regional
c) Globa d) Loca
i)  According to Mr. Starch advertisingisan attempt to sell
goods.
a Projected b) Written
c) Artficid d) Naturd
i) Advertising isa effort.
a Written b) Projected
c) Credtive d) Artificd

IvV) The information that is conveyed to the customers by expressing
what the adviser wantsto say in wards or picturesis called
inthe advertisement.

a Appea b) Message
c) Ethics d) Structure
v) Member of standard council of Advertising in Indiaare related to
a Socid b) Educational
c) Economical d) Advertising
vi) Brand is considered as a symbol of
a Trust b) Quadlity
c) Trustand quality d) None of these

PT.O.



B) Matchthefollowing: [9]

) EM. Centre ad Negative Emotional Approach
i)  Pop under Advertising b) Brand Development Index
i)  Appealsof fear & anger c) Broad cast media
IvV) Love security greed d) E-Advertising
v) BDI e) Positive Emotional Appeals
Q2) Write ashort notes (any 2 out of 4) : [10]
ad Procedure of E-commerce
b) Positive Emotiona Approach
c) Advertising standards council of India
d) BrandExtension
Q3) @ Explainthefunctionsof Advertisingindetail. [8]
b) Explainindetail how to create message of advertising. [7]
Q4) @ Explainthe causesof wastein Advertising. [8]
b) Explainthetypes of Brands. [7]

e
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T.Y. B.Com. (Semester - V)
356H : MARKETING MANAGEMENT - Il

(356H : fargu= s=FEEaTI= - 111)
(2019 Pattern) (CBCYS)
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ae : 2> @ | [ o 7707 : 50
W.‘
1) @d g7 qisaut sy .
2) IwEieREIe 37k TyATa gut o7 F9ffaard.
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g l) 31) T Swm . (FivTeEE a) ¢ [5]
i) B-SRAAAT............. T ER =ATeAdTd
) W §) Wi
W) WATdeh ) T
i) of. Tl A, S U o ferhredt shetet T B
) vafm 7) fofRem
®) T g) Jwfiw
iil) AT heet AR F ... T .
) foarem ) wLfua
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V) YR AR JHT0TR UREee TUFG R ..o gt frdia smea
H) TR F) et
®) ImiedeR ¥) iEE
Vi) Wi, I Telieh HHA T,
A) TS F)  TuEE
%) forgama amfor e g) TRt AT
q) e g [S]
e - A w-q
i) U®.UA.hg )  THNHS HIEHS FEhA
i) i 3= SRE q) e ferfua e
iii) TR emfor TEm=R steTER ®) Ul HIgTH
iv) 9u, TRemT, Oig / oY ) 3-eE
v) @Eem. 3) UhRIcHe: WA SATEEA
gy 2) T femn. (siorea@ M) ¢ [10]

H) I-wrmE wE ggdl

q) HHRHE WA R
&) R A THIUTE IRYe
g) ugfamr

v 3)  3A) WA e AfeReR T .

q) IR0 T HE TR HAAAT ATAGEA Hitgdt foTgl.

v 4) ) A STUSIaTE! ShRUN T .
F) e (fogir) 9 &R T =,

e

[6032]-525 4

[8]
[7]

[8]
[7]



Total No. of Questions : 4] SEAT No. :

P-1811 [Total No. of Pages : 4
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T.Y. B.Com. (Semester - V)
356 | : AGRICULTURAL AND INDUSTRIAL
ECONOMICS - 111
(2019 Pattern) (CBCYS) (Paper - 111)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto the right indicate full marks.

Q1) a) Fill in the blanks (Attempt any 5 out of 6) : [5]

1)  The central government in India have setup to attract
foreign companies to invest in India.

(Special Investment zones, special trade zones, Special Economic
zones, Special business zones)

i1) The credit is mainly needed for long term
development of agriculture sector.

(Short-term, Medium term, Very short term, Long term)

ii1)) The Special Economic zone act was passed as on
2005.

(01 April, 10 February, 01 May, 23 April)

1iv) In India the cooperative credit organizations has tier
structure.

(four, two, one, three)

v) The financial sector reforms was takes place in
(1982, 1978, 1991, 1998)

vi) The major source of agricultural credit is

(Cooperative credit society, Commercial banks, self-help groups,
Small finance banks)

PT.O.



b) Match the following : [5]

1) Opening of Indian Economy a) Agrarian Economy

i1) Export promotion b) New Economic policy 1991
1i1)) Sustainable agriculture c) Needed for future generation
1v) Basic feature of d) SEZ

Rural Economy

v) Lack of credit e) Problem of agricultural credit
(Q2) Write a short note (Any 2 out of 4) : [10]
a) Interdependence of agriculture and Industry.
b) Foreign direct Investment.
c) Sustainable agriculture.
d) Challenges of agricultural credit in India.
03) a) Explain the role of multinational companies in Economic development
of India. [8]
b) Define Rural Economy. Explain the features of Rural Economy. [7]
Q4) a) Describe the importance of Industrial policy in Industrial development.
[8]
b) Explain in detail the role and importance of agricultural credit in India.
[7]

000
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356 | : AGRICULTURAL AND INDUSTRIAL

ECONOMICS - 111

(2019 Pattern) (CBCS) (Paper - 111)

ae ; 2s @ |

e
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1) @& 997 qisfav sravas sied.
2) SRS 3 T9AI qUT U7 qitdaTa.
3) TeuraTdt gw FUsh Gyt gra.

HA) Termn Swm W@ (RiveEd 5) [5]

1)

Vi)

g TR WRATED Tl o Taeuye aefeva et .. .. .. ...
SATAT heAe! 3R,

(oo e e, fovm =R gm, fovim snfdew a=, fovim ==
&)

Irelt rsrren fesertei foemaE formeht Ty TR e
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T 20057 ........... 71 feash femiw anfeler o= et ure e,
(01 wftrer, 10 gy, 01 &, 23 ufiren)

YRATHEN HEHRN UAEST TEATR AT ... W 3R

(I, 5, T, )

ARATHED forwiiar & GEmom ..o, HEA AT TUTET et
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F)  ArE AL A [S]
i) I uRdE stdeeren ) HE eneTRa efeaE

i) et dearga ) T anffes grur-1991
iii) vmead St ®) WEUSHTS HTEvE®
iv) unfor sdferedRigeyd 8)  SEZ
E[F1:0
V)  OAqrEgET A 3)  FiuayEgHreh wwen
gyt 2) fem fomn (ot 39) [10]

HA)  FH T IGAN GA TEAEA I

&)  foeeh geae aavs

®)  IIyEd vl

g) HRATA HH Taqaean THe STegH.

g7 3) 1) HRATSA AN R S U YiHeR T . [8]
F) AT STAEEET-SATEA gl URHUT Srefeaaed=it ST TE . [7]

T 4)  3) iR e SigdiRie SRuT< "ged fovrg . [8]
F) RGN HHl e FH mugaeaTe YHeRT Ut HEed AfeRaRdut ¥
. [7]
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[6032]-527
T.Y. B.Com. (Semester - V)
356(J) : DEFENCE BUDGETING, FINANCE &
MANAGEMENT - Il
(2019 Pattern) (Special Paper - 111)

Time: 2%2Hours] [Max. Marks: 70
I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto the right indicate full marks.
Q1) Attempt any five of the following : [S x 2 =10]
a) Define public good.
b) Define micro economics.
c¢) What is a financial advisor?
d) State the defence budget structure.

e) Define defence five year plan.

f)  State the role of the Chief of the Defence Staff (CDS)

02) Attempt any four of the following : [4 x § = 20]
a) Defence budget
b) Union budget
c¢) International Telecommunication Union (ITU)
d) Auditor general

e) Financial advisor

PT.O.



03) Attempt any four of the following : [4 x § =20]

a) Explain about Indian National Space Promotion and Authorisation
Centre (IN-SPACe).

b) Explain principles of the financial system.

c) Explain formulation of Defence five year plan.

d) Explain parliamentary control of the Defence budget.

e) What are the new projects that India is now working on Defence?
04) Attempt any two of the following : [2 x 10 = 20]

a) Explain in detail the defence account department.

b) Explain in detail the structure of a five year defence plan.

c¢) Where do you see yourself in the next 10 years in Defence?
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P-1812 [6032]-527
T.Y. B.Com. (Semester - V)
356(J) : DEFENCE BUDGETING, FINANCE &
MANAGEMENT - 111
(2019 Pattern) (Special Paper - 111)
(TS T UTR)
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[Total No. of Pages : 4
[6032]-528

T.Y. B.Com.

INSURANCE, TRANSPORT AND TOURISM - 111

356 K : Insurance (Special Paper - 1)
(2019 Pattern) (Semester - V)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

All questions are compulsory.

Figures to the right indicate full marks.

1)
2)

Q1) A)

Fill in the Blanks (Attempt any S out of 7) : [S]

)

ii)

Under Non-Medical underwriting, which is not a condition to be
followed?

a Femde b) Limitinsuminsured

c) Limitinage d) Limitinincome

An Is a financial investment made by a company or
individual in another country’s business interests.

a RBI b) FDI

c) SEZ d) CRR

was constituted as an autonomous body to regulate
and devel op the business of insurance and reinsurance in India.

8 LIC b) GIC
c) IRDA d NBFC

intheinsurance arejust liketheretailers of any consumer
product who help in selling and distributing the product.

a Surveyors b) Loss assessors
c) Agents d) Banks

are agents but they can sell policies of several life and non-
lifeinsurance companiesat atime.

a) Loss assessors b) Brokers
c) Insurer d) Insured

PT.O.



B)

02) Write short notes (Any 2 out of 4) :

a)
b)
c)
d)

03) &)
b)

04) @)
b)

Vi)

Which of thefollowing iscontract between two insuresi.e. original
insurer and another insurer?

a Premium b) Cover note
c) Rensurance d) Co-insurance
vii) The burden of proof of the loss within the scope of policy isupon
the
a Insurer b) Insured
c) Surveyor d) DefenceLawyer
Match the following : [5]
)  Risk Management - d Reducing the level of risky
activities
i) Diversification of Risk - b) Transferringrightstotheassgnee
i) Risk avoidance - c) RiskAnalysisand Control
Iv) Assignment of lifepolicy- d) Carry out claim surveys
v) Surveyors- €) Invest in various financial

ingrumentsin order toreducerisk

[10]
Reduction of Risk

Process of Underwriting

Role of Third-Party Administrators

Benefits of Foreign Direct Investment

[8]

Definetheterm Underwriting? State the specia underwriting practicesin
non-medical insurance. [7]

Explain different techniques of Risk Management.

Explaintheroleof Individual and Corporate Broker ininsurance sector.[8]

Explain the Insurance Regulatory Systemsin UK and USA. [7]

VVVV
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T.Y. B.Com.

INSURANCE, TRANSPORT AND TOURISM - 111
356 K : Insurance (Special Paper - |)
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(2019 Pattern) (Semester - V)
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[ Tepor 7707 : 50
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[6032]-529
T.Y. B.Com.

COMPUTER PROGRAMMING AND APPLICATION-III

356L : Software Engineering (1)
(2019 Pattern) (Special Paper-111) (Semester - V)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1)
2)

Ql) A)

All questions are compulsory.
Figures to the right indicate full marks.
Fill in the blanks (Attempt any 5 out of 6) [9]
1) IS proposed the spiral model.
a Barry Boehm b) Pressman
c) Royce d IBM
1)) IS system software.
a Computer program b) Testing
c) Al d 10T
i)  Quality Management is known as
a SQl b) SQA
c) SQM d) SQA & SQM

IV) RAD software process model stands for
a) Rapid application devel opment
b) Relativeapplication model
c) Rapidapplication design
d) Recent application development
v) Thefirst step isthe SDLC is
a Anadyss b) Desgn

c) Problemldentification d) Development

Vi) IS not characteristics of system.
a Structure b) Central objective
c) Dependence d) Independence

PT.O.



B) Match the following :

[5]

List | List Il

a Evolutionary model )  Requirement compromises
areinevitable

b) Waterfall model I1)  Specification can be devel oped
incrementally

c) Component based Software 1) Explicit recognition of risk

Engineering
d) Spiral development V) Inflexiblepartitioning of the

project into stages

Q2) Short notes (any 2 out of 4) :

a)
b)
c)
d)

Q3) 8
b)

Q4) g
b)

Spiral model

Software Requirement specification (SRS)
Fact gathring techniques.

Mc call's quality factor.

Explain system concept and it'stypesin detail.
Explain system Analyst withit'srole, knowledge and qualities.

Explain Software Engineering with needs and characteristics.
Explain SDLC (software Development lifecycle) indetail.

Q000
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[6032]-530

T.Y.B.Com. (Vocational )
355-Voc (A) : COMPUTER APPLICATIONS-I
(2019 Pattern) (CBCYS) (Semester-V)

Time: 2%2Hoursg| [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) A) Fillintheblanks. [9]
ad _ operator is used to display power (ab).
) ab i) a*b
i) asxb Iv) a“b
b)  Which of thefollowing istruncation division operator in python.
)\ i) \
i)/ iv) [/
C) __ isusedto create an empty set in Python.
) set() i 0
i) ] v) {}
d) Thedatatypefor 14.2is .
) int ii) bool
i) float Iv) string
€) Pythonwasdeveloped by .
i)  DennisRitchie i)  NieneStom
i)  Ken Thompson Iv) Guido van Rossum
B) Statewhether thefollowing statement is True or False: [9]

a Pythonislow level programming language.

b) Pythoniswritten using C++ language.

Cc) bool datatype awaysreturnstrue or false value.
d) ‘+ isused asan arithmetic operator in python.
€) Pythonisnot case sensitive language.

PT.O.



Q2) Answer thefollowing (Any 4). [20]

a Explain whileloop with syntax and example.
b) Writeapython program to calculate smpleinterest.
c) Writeany five Applications of python.
d) Writeapython program to display maximum of two numbers.
e) Explainthevariablesin python.
Q3) Answer thefollowing (Any 2). [20]
ad Explainindetail any five operatorsin python.
b) Explainpass and continue statementsin python with syntax and example.
c) Explainindetail any fivefeaturesof python.
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[6032]-531
T.Y. B.Com.
SALES MANAGEMENT

355 B-VOC : Advertising, Sales Promotion & Sales
Management - |

(2019 Pattern) (Semester - V) (CBCYS)

Time: 2Hoursg| [Max. Marks: 50
I nstructions to the candidates:
1) All questions are compulsory.
2) Figures to right indicate full marks.
Q1) A) Fillintheblanks: [9]
a) Itinvolves Planning and co-ordination of salesefforts.
1)  Product distribution i) SaesManagement

i)  Marketing Iv) Labdling

b) Providing Motivation to sales force is the prime responsibility of

) CEO

i)  Finance Manager
i)  SalesManager

Iv) Marketing Manager

Cc) Most organisations used their salesforcetoreach
i)  Customers
i) Traders
i)  Competitors
iv) Saes

PT.O.



d) Followingisthenot part of Sales Management.
)  Recruitment
i)  Motivation
i) Performance appraisal

Iv) Exitinterview

€) Itisbasic objectivesof Sales Management.
) Tomaintainsales
i)  Advertise
i)  Communicate

Iv) Finance

B) Matchthepairs: [9]
a) Process of organisation of i)  Source of recruitment

sales efforts

b) Advertisementinnewspaper i) Setting objectives

c) SaesPlanning lif) Motivation
d) Writtentest Iv) SalesManagement
€) Far pay packet v) Selection process
Q2) Write short note on (any 2) : [10]

a) Importance of Sales Planning.
b) External sourcesof recruitment.
c) Methods of motivation to sales persons.

d) Challengesbefore SalesManager.
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Q3) Ansewr thefollowing (any 4) : [20]
a Methods of training of Salesman.

b) Stepsin Sales Control.

c) Need of Sales Planning.

d) Selection process of sales person.
€) ldentification of salesforce.

f) Roleof Sales Manager.

Q4) Answerthefollowing (any 1) : [10]

ad What do you mean by Sales Management? Explain need and importance
of Sales Management in current scenario.

b) Writedetall note on training and motivation to sales persons.

* * *
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[6032]-532
T.Y.B.Com. (Vocational)
CUSTOMSDUTY
355 C : Tax Procedure & Practices
(CBCS 2019 Pattern) (Semester - V) (Paper - 1)

Time: 2%2Hoursg| [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright side indicate full marks.

Q1) A) Choose the correct answer (Any Five) [9]
a Incaseof imported goods, transaction value also includes
1) 200 nautical miles i) 20nautical miles
i) 100 nautical miles Iv) 10 nautical miles
b) As per Customs Act, 1962, conveyance includes
) Vess
i)  Aircraft

i) Vehicleincluding railway vehicle
Iv) All of theabove
Cc) Asper section 14(1) of Customs Act, transaction valuemeans
1)  Price paid to the seller of imported goods
i)  Price paid by the buyer of export goods
i) Both (i) and (ii) above
Iv) Price actually paid or payable for goods
d) Incaseof imported goods, transaction value also includes
I)  Commission and brokerage
i)  Cost of transportation at the place of importation
i)  Landing charges at the Indian port
iv)  Only (ii) and (iii) above
€) Customs duty shall be levied on goods
1)  Imported into India by any person other than Government
i)  Exported from India by any person other than Government
i) Imported into or exported from India by Government

Iv) All of theabove
PT.O.



f)  The basic condition for levy of Customs Duty is
1)  There must be import or export of goods
i)  There must be import or export of services
i)  There must be import or export of goods or services or both
iv) All of the above

B) State whether the following statement isTRUE or FALSE. [9]
a Customs station means any customs port, customs airport or land.
b) Coasta goods mean the goods transported in a vessel from one
port in Indiato another.
c) Export meansbringing into Indiafrom aplace outside India
d) TheCentral Government cannot impose Safeguard duty to domestic
industry.
€) Baggage includes unaccompanied baggage but does not include
motor vehicles.
Q2) Write Short Notes (Any Two) [10]
a Constitutional background of customs law.
b) Prohibited Goods
c) Anti-Dumping Duty
d) Features of Custom Duty
Q3) Answer thefollowing questions (Any Four) [20]
a WhatisTransaction Value?
b) What is‘Person-in-charge’ ?
c) What is mean by ‘Goods ?
d) How do determine taxable event for import?
€) What ismean by ‘Indian Customs water’ ?
f)  What is‘foreign-going vesselsor aircraft’ ?
Q4) Answer any One of the following questions. [10]
a Explain the provisions for classification of Goods under Customs.
b) How isTransaction Vaue determined under different circumstances?
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T.Y.B.Com. (Vocational)

356VOC-A: COMPUTERAPPLICATION-11

(CBCS 2019 Pattern) (Semester - V)

Time: 2%2Hoursg| [Max. Marks: 50
I nstructions to the candidates:
1) All questions are compulsory
2) Figuresto theright indicate full marks.
Q1) A) Fillintheblanks: [9]
a refers to the act clicking and looking through resources on
theinternet.
)  Website Layout design i)  Website navigation
i)  Website Designing IvV)  WebsiteActivation
b) The purpose of Search engineisto -
)  Searchvideo i)  Search documents
i)  Download software Iv) All of these
c) URL stands for
1)  Unique ReferenceLabel i) Uniform Resource Locator
i) Uniform Reference L abel Iv)  Unique Resource Locator
d) Which of thefollowing isused to create website.
)  Word i) Excd
i) HTTP iv) HTML
2) Is not an example of e - commerce website.
)  Hipkart i)  Amazon
i) Twitter iv) Olx
B) State whether the satement is True or False. [5]
ad Inwebdesigning designer must think about how the page will layout
on multiple devices.
b) Navigationa sitesarethosesitesthat are built primarily to support
business of some organization.
c) A hyperlinkisadigital referenceto datathat the user can follow or
be guided to by clicking or tapping.
d) SQL isanexample of search engine.
e) Dynamicwebpage generates on demand by aprogram or arequest

from browser.

PT.O.



Q2) Attempt any FOUR of thefollowing : [20]
a Explain Wed Pyramid with the diagram.
b) Explain Site Navigation asan element of websitedesign.
c) What is Search Engine? Give any two examples of Search Engine.
d) Writeanote on Domain Name System.
e) WhatisHyperlink?Explain.

Q3) Attempt any TWO of thefollowing : [20]
a Explain web development process model.
b) Explainany two types of websites with example.
c) Writeany five principles of good website design.

¢ ¢
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T.Y.B.Com (Vocational)
MARKETING
356 (B) VOC : Advertising ,Salespromotion & Sales
Management -1 |
(2019 Pattern) (CBCS) (Semester -V) (Paper - V1)
Time: 2%2Hoursg| [Max. Marks: 50

I nstructions to the candidates:
1) All questions are compulsory.
2) Figuresto theright indicate full marks.

Q1) A) Fillintheblanks [9]
ad itisasystematic study of problemsrelated to marketing of goods
and services.
1)  Product knowledge i)  SalesManagement
i)  Marketing Research Iv) Basic research
b) Followingisnotstep in marketing research.
)  Problem Identification i)  FieldWork
i) Dataanalysis Iv)  Marketing management
c) Festival and ritualsin country is part of
i)  Political environment i)  Cultural environment
i)  Competitors Iv) Salespolicy
d) Itismarketing of productsthat are presumed to be environmentally
safe.
)  Greenmarketing i)  NicheMarketing
i)  Bluemarketing Iv) CRM
e) Itisbasic advantage of digital marketing is
)  To Capture market i)  Global reach
i) Loca market Iv) District wholesaler

PT.O.



B) MatchthePairs. [9]

Group A Group B
a) Digital marketing i)  Promotion of product
b) Greenmarketing i)  Widecoverage
c) Affiliatemarketing i) Environment Friendly
products
d) Marketing environment Iv)  Establishing connection
through blogs
€) Promotion manager v)  Economical and politica
factors
Q2) Write short note on(any 2) [10]

a Importance of green marketing

b) Roleof marketing research analyst
c) Functionsof promotional manger
d) Trendsin marketing Enviroment

Q3) Answer thefollowing (any 4) [20]
a) Objectivesof marketing research
b)  Functionsof marketing manager
c) Roleof Product Manager
d) AffiliatleMarketing
e) Digitd Marketing
f)  Techniquesof marketing research

Q4) Answer thefollowing (any 1) [10]

a Stateand explain meaning, need and importance of marketing environment.
b) Writeadetail note on social mediamarketing.
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T.Y.B.Com. (Vocational)

356 C-VOC: TAX PROCEDURE & PRACTICES -1l
(2019 CBCS Pattern) (Semester -V) (Paper - 11)

Time: 2%2Hoursg| [Max. Marks: 50
I nstructions to the candidates:
1) All Questions are Compulsory.
2) Figuresto theright side indicate full marks.
Q1) A) Choose the correct answer (Any Five) [5]
a According to Schumpeter, IS the most important function
of amodern entrepreneur.
i)  Creativity i) Invention
i) il Iv)  Innovation
b) isthe hallmark of a successful entrepreneur.
1)  Risk bearing capacity i) Persistence
i)  Hexibility Iv)  Self-confidence
C) Entrepreneurs neither introduce new changes nor adopt
new methods innovated by others.
)  Technical ii) Fabian
i) Induced Iv) Business
d) Entrepreneurship Development Programsisrequiredtohelp
)  Existing entrepreneurs
i)  First generation entrepreneurs
i) Future generation entrepreneurs
Iv) None of the above
2) analysis is primarily concerned with the identification,
qualification and evaluation of the project resources.
I)  Techno-economic i)  Financia
i) Input iv) Feaghility
f)  IFCI stands for

1) Industrial Funding Corporation of India
i) Institutional Finance Corporation of India
i) Industrial Finance Corporation of India
IV)  Indian Finance Corporation and Institution

PT.O.



B) State whether the following statement is TRUE or FALSE [9]

a) Sef-Help Groups are the informal associations of people.

b) Theentrepreneur alwaysintroduces something new or can bean imitator.

c) Entrepreneursof large-scalebusinesseslike Tata, Birla, etc. are Instigated
Entrepreneur.

d) Industria Entrepreneur isaperson who demonstrates hisinnovative skill
In organizing acorporate undertaking.

e) Financial analysis is primarily concerned with the identification,
gualification, and evaluation of the project resources.

Q2) Write Short Notes (Any Two) [10]
a Missonof MSME
b) Futuresof Entrepreneurshipinindia
c) PrimeMinister Employment Generation Program
d) National Entrepreneurship Development Board

Q3) Answer the following questions (Any Four) [20]
a) Explaintheroleand importance of entrepreneurship.
b) What arethe criteriafor selection of anew product or service?
c) What arethefunctions of MCED?
d) What arethe deferent types of entrepreneurs?
€) What arethe qualities of entrepreneurs?
f)  What are the functions of a Pollution Control Board?

Q4) Answer Any One of the following questions. [10]
a What arethefunctions of the State Industrial Devel opment Bank?
b) What arethe significances of MSME in entrepreneurship development?
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